
 

 

Solución de ejercicios impares sección 1.1 
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Solución de ejercicios sección 1.2 
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Solución de ejercicios sección 1.3 
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Ejercicio 2 

a) 

Si 
2u x , entonces 

4 2 268 40 68 40
4 4

3 3 3 3
x x u u      

. Luego, 

2
68 40 2704

4 4
3 3 9

 
      

 
, y

1

68 2704

23 9

2 4 3
x

 

 
 , 

2

68 2704

3 9
5

2 4
x

 

 
 . 
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  

  

4 2

2

2 2

68 40
4

3 3

68 40
4

3 3

2
4 5

3

4
3 2 5

3

4
3 2 5 .

3

x x

u u

u u

u u

x x

  

   

 
    

 

   

   
 

b) 23 45 18y y  =   3 5 3 3 2y y   

c) 2

11 28
2

m
m 

  

 
2

21
11 28 22 56

2 2

m
m m m     , por lo cual 

 
2

22 4 1 56 260        y 

1

22 260
11 65

2 1
x

 
  

 , 
2

22 260
11 65

2 1
x

 
  

  

    
2

21 1
11 28 22 56 11 65 11 65

2 2 2

m
m m m m m         

 

d) 4 3 26 4 3 2x x x x    
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